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. (The figures in the margin indicate full marks for the question.)

[Section- A (" *Ii4)]

Each question given below, four answer are given Out of four
only one asnwer is correct. Select the correct answer
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A)’Fhevalueof,/s—lr+ﬂ gtk T S 1
(334327 +3/64 IANTE-) | P
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(u Thevalueof203x10515 (2.03 x 1033 ) - 1

" (a)0.203  (£)0.0000203 (c)203000  (d)O0. 00203
[ ' Wpocqandp 6,thenq=230.Nowif p=2, thenthe value of qis-"
| (3 p oc qWIF p =61 =30 S p= 2ZE qITHZ - ]
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thh ofthe following manon-tﬁmﬂng mpeahng decunal ? 1
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(a)J_ , '(b)ﬂT | (C) D155
/xf(aﬁ)LCM(sn,zs) 182, men(c@c@s)HCF(sn 26)=7 1
(a) 13 (b) 26 (97 @9 |
ich one of the followmg isarational number? . 1
(wmmﬂmﬂﬁmﬂm”) | R
e i off 7 B 3
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(vij)The prodﬁct ofthezerosof dx?+8xis = .
(4x? + 8x IR AT LA-) 105
(a) 4 (b) 8 32 1
(viii) If one zero of the polynomial p(x) =ax*-3 (@- 1) X~ 1is |,
then value of 'a' is - (I p(x) = ax?- 3 (a- 1x- | Tl
<1 X7 1 2, (9% 'a' T W T3-) , S
(a1 (b) -1 (c)2 d)-2
@;Hfthe two zeros of the quadratic polynomial are /3 gnd -3
then the polynomial will be - (3 5t faqre 721 R F51 xmy

V3 SIF _ 3 T (ST M T9-) 1

@2 -3 (b) 443 @ -3 (@ x-9
@ If the graph of the polynomial y = f(x) intersect X-ams attwo
points, then the number of zeros of f{x) is- ‘ l

(@M y = f(x) TR GO x-w‘mﬁwcaﬁm
(ST f(x) IXS A2 T'3-)
(a) 0 (b)3 (©)1 (d)2

(xi) The number of solutions of the equations -5x + 2y = 8 and
2x - 5y -3 =0 have

(5% + 2y = 8 I 2x - Sy - Juoﬁaﬁwwwwm-)l

(a) One (451) (b) Two (751)
(c) Many (729) *(d) No (31?)

(),Hfthe lines given by 3x +2ky =2 and 2x + Sy+1= O are
parallel then the value of 'k' is - (3f 3x + 2ky=2%1%

2x+5y+1=0 ﬂﬁ@ﬁmw%wmmﬁm

WW’@I (9T 'K' I 99 27-) , 1
| \15 '
(a) = (b) -— e (d)

E/J&Ome rootofa quadratlc equation is 2 and sum of the two roots
is ‘0", then the equation is - (I Bt Brs ﬁﬂﬁ*‘ﬁ @51 &

2 T BT 197 0, (O SR 29-) 1
(@) x*+4=0 (b)x2-4=9 —
(c)4x*-1=0 (d)x2-2-0
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, {Xiv) Under what condition ax?+ 5x + 7=0 will be a quadratic
~ equation ? (R 5E® ax? + 5x + 7= 5 Bae AN 24?) 1

@a>0 (b)a<0 (c)a=0 . (d)a=0.
(XYHfx2 - 4x +p =0 has real root then - 1

(% x2 - 4x + p = 0 T A% AT (o)

-@p>5 (b)p<-4  (c)p>4 (dp<4
(xvi) AABCisa right angle isosceles triangle in which ZC =90°. If

AC=6 cm then AB ? (AABC b1 e s1fare fawe: i
£C=90°, AC =6 cm Tq ([T ABIWF-) 1

(@) gJ2cm (b)6cm © 246 em  (d) 4,5 cm
/,}All circles are .(ﬂiﬁiﬁmﬁ@ 1

(@) Similar (T7) (b) Not-Similar (WT‘T*!Q?I)
_ (c) Congruent (3m) (d) Equal (37) '
yu) The distance between the points (1, 0) and 0,1)is- 1
((1; 0) == (0, 1) Ry WO rera viarg)

@2 P (€)1 do.
‘ (xlx The co-ordinate of the mid point of the line segment joining the
SR pomts (6,1)and (8, 3)is-

((6, 1) == (8, 3) Ry s @A v4fRgm gk
56,8) . (b)(1,3) (7,2) - DQ,7)
/)Thevalue of 9Sec?60° - Otan 60° is- 1

(95ec?60° - 9tan?60°% ) (2) > 3 ©18 @9
. Answerthe following questions : (S&Te A3l e Tes ) ¢

1 -

(i) What s the square root 0f 9216 ? (9216 335151 i ?) 1

(ii) Find the value of m (mI W Rfa <) i
If (M) (- 3y™ x (-3 = (- 3)" e
. (i) State the Fundamental Theory of Arithmetic. 3 ) 1
siifboiftes GfeRe Tetsting T 1| |
Qx)’Gwe HCF (96,404) =4, then LCM (96,404) =7 =1

(TR =1 e (96,404) = 4 COUTS s 8 (96,404) = )
(v) Whatisthe degree of a quadratic polynomial ?
61 faure el it s fsi e
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o csumand product of the zeros of aquadratic POlynomiq| ,
/’;l-'ehspectlvely 3'and 2", Find the polynomial. l
51 FRTe Teeiwa X7 WBis a8 - 3' O T 2! g
bt A < |
(vii) Find the solution of the linear péir equations X +y=4andx -y=
X+y=4TFx - y = 2 (3RS TIRRAEIE TG Gfenaqy | 1
(viii) Under what condition, roots of the quadratic equation
- X2+px+q= 0 will be real and unequal ?
e x+px+q=0 WW@W@WWW@?
ylmheAABC ,DE||BC.IfAD=1. ScmDB 3cm,AE=1¢n
then EC=? 1

(AABCI DE | BC 13ff AD = ISCE"ﬁo,DB 3cq=ﬁ:,,
AE= 1@:1?: (STFEC="?)

e 14 tan?d
_(x)Fmdthevalueof Troo S Copore aamﬁ»ﬁ:wn

3. Answer the follomng as direted : (T SR Ges [731) 5
(1) Express in factors. (Geimae o 3541) y2 - S5y - 36 1
rite true or false : (3797 31 S7e) foiall) 2 L

The degree of constant polynomial is 1. (40 Wﬂm 1))
(@) Under what condition the lines represented bya x +b;y +¢,=0

andax+b,y+c,=0will be intersect each other. - 1
ax+by+c =09Fax+by+c, —Oﬁﬂﬁﬂ@?m
(IR I AT SO0 3919 5Ot o7t
E({9’%&3 whether the equations 3x + 2y =5 and 2x - 3y 7 are
consistantorinconsistant? . I
3x+2y=59% 2x - 3y = Mﬁmqmw\et@mw\%?
, ( x +3y-9=0alinear equation? .- i 1

2x+3y-9= OWW’NN? _ :
(w)lftherootsoftheequatlonax2+bx+c vallbemmagmtude
but opposite in direction, then find the value of 'h'. - 1

M ax? + bx+c = oﬁﬂwﬁww@mwﬁﬁﬁ

fbeye 2, corg b I W AT .
| (vu) State 'Thales Theorem (CWE"I’HWJ’CFIWW) :
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(viii) IFAABC and ADEF are similar triangles such that
| £D=57"and ZE =73° what is the measure of ZA 7 l
3t AABC 1% ADEF w51 74 fger 4 £D = 570017
LE=T73"CST® ZA T (5il9 @iy ¢ |
Li,x)-What is the distgnce between (0, 5) and (- 5', 0)? I
(0, 5) ®1: (- 5, 0) T “ier v faefy a3 |
@),Yhat is the distance of the point p(2, - 3) from the X-axis e 1
‘X-WWP(Z’ '3)mmﬁﬂnﬂ? '

4. Fillin the blanks choosing the correct option from the alternatives
given in the brackets : (%117 feo3® il Rerszaie sfa % SGICH!
MR et 9IRS 741) 8 :

(1) The numbers of Natural Numbers between 18%and 192 s

<7 (18919 19 IR AORE RARRM T ) 1
(36/38/37/41) | _

_(WHfoand P are zeros of quadratic polynomial ax? + bx 4 3

: then off 1s____ (ﬂﬁaWBf‘%ﬂT@ﬁ‘i‘Pﬁax%b’)‘::i- cI X
=, (0% of I T - £,

)
o gl
@b/ g /==)

- (1ii) If the quadratic equ'atioh ax?+bx +¢ =0 have no real roots;'

then__ . (3 RR1e AT ax? + bx + o= 07 (I A1

T A, T ____ 1) AT S |

b? - 4ac=0/b? - 4ac > 0/ b* 4ac <0/ None (518 =)

ey AB BC . .t

(iv) Ifin AABC and ADEF, BE "D ,thenAABC»vADEthm

AB - BpC T ¥ :

— ~ ADEF
(ﬂﬁAABCWADEFa e c@mmc EF
(4B=4D/ LA=4D/ LA=LF//B=4E)

(vyxe Value of Sec 60°is - (Sec60°FTA__) 1

B o 25] 0 o8
T 10 12/ =Y AL
.(/z 2)
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[Section- B (‘if’ -W’K")] 'I

5 Divide: () 8 - g™ p)
Byt -4y5+ 5y +y* |
6. The volume ofa cubic box is 6859 cm’, Find the height of the box. »

B! e SHig R IR RIS 6859 com? | AU B! e
/" Using Euclid's division algorithm find the HCF of 135 and 225. 2
<o R Tz IR 135 1% 225 9 ofs s T ey

/ Prove that 34/2 isirrational. (&SI T 3.2 woARTR) 2

L |
9. IfSinA=Z,then_ﬁndCosAandtanA" = | 2

-
M SinA= o (903 CosA WIi% tanA Tfenedl |

10Find the value of : (VA TN ¢ | 2

Cos45°
Sec30° + Cosec30’ _— ;-
11. If (3M) tan A= cot B, prove that - (&I 31 (3-)
A+B=90° i
ysave' : (FTYH ) 8 8x +5y=9 . 3
. . 3x+2y=4

13. The sum of the digits of two digit number is 9. Also nine times this
number is twice the number obtained by reversing the order of the
number. Find the number. % 3

W1 S ST 5IF TF HOIF TS 9 | SICFT 4R FYIOR 72
(el FRYICHI O oI AT P CAIRN AT et FA

o | Y Bfevedt| - _ |
14. Solve : (LI ) ¢ .
6x2-x-2=0 o i .
15. Sum of the areas of two squares is 468 m2, Ifthe difference of their
perimetersis 24 m, find the sides of the two squares. 3
w1 2R IR ezt 468 3o Fbr | 3k Frdoq sifisfa 14T
24 e, 3V o1 1w ARt T e -

16. DiagonalsACand BD ofatrapezium ABCD with AB | DCinteRc!
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24 fats, 3o ot arem sifRsrre et 1=
16. Diagonals AC and BD of a trapezium ABCD withAB |DC lnterscct

AO CO
at the pomt 0. Prove that —=—— 3

BO DO
(ABCD @m%ma AB || DC @iis 3319 AC &I BD ¢ qGie

A0 cCo
Woﬁwmﬁsquwm-m 5"

17. Disapoint on the side BC of the AABC such that /ADC = /BAC.
Prove that CA2=CB . CD. 3

AABCI BCAI%962[7® D «b! i &1is ZADC = /BAC, (736
(@ CA2=CB.CD.

18. Find the co-ordinates of the point which divides the line segment
joining the points (- 1, 7) and (4, - 3) in the ratio 2 : 3. 3

wed
(- 1,7) 9= (4, - 3) Ry it @aes 2 - : 3 weies Ree i
R gmise Refa w11
+ 19. Find the value of k if the points (8, 1), (k. - -4)and (2, - 5) are collinear.

(8, 1), (k, - 4) =1 (2, - S)ﬁiﬁﬁamﬁhﬁakamtﬁﬂn 3

~ 20. Prove that (219 9941 ) o2
el -1 — Couéecé-—CorG.
See@ +1
21 Obtam all other zeros of x* + x* - 9x2 - 3x + 18, if two of i 1ts-zeros
are .f3and _.f3. i
(@ x4+ %7 - 9x2 - 3x + 18 I2AWCHR GBI ) /3 & _ 3 iﬂ,
(OCE 2R KT @21 4= [efar w11)

Or (S12AT1)
After dividing a polynomial x* - 3x?+ x +2 by g(x), we find x - 2 as
quotient and - 2x +4 as remainder. Find g(x).
(GBI TR X3 - 32+ X +2F g(x) (3 TR T OIS x - 2 6T
SR -2x + 4CART A | g(x) Tfereat |



